BID TABULATIONS

Contract No:DH00330

WBS No:17BP.8.R.134

County:Lee

Replacement of Bridge No.34 over Upper Little River on SR 1146

(ST. Andrews Church Road)

Bid Opening Date: 1/25/2022 at 2:00 PM

_				L	NTRACTORS INC		CORPORATION		OWE, LLC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$52,740.00	,	· ·	\$60,000.00	\$59,650.00	\$59,650.00
2	Type II Modified Approach Fill, Sta. 15+57.00 –L-	1.00	LS	\$20,000.00	\$20,000.00	\$14,000.00	\$14,000.00	\$11,350.00	\$11,350.00
3	Undercut Excavation	300.00	CY	\$1.61	\$483.00	\$5.00	\$1,500.00	\$1.00	\$300.00
4	Grading	1.00	LS	\$70,000.00	\$70,000.00	\$80,000.00	\$80,000.00	\$155,000.00	\$155,000.00
5	Supplemental Clearing and Grubbing	1.00	Acre	\$0.01	\$0.01	\$1.00	\$1.00	\$1.00	\$1.00
6	Drainage Ditch Excavation	450.00	CY	\$5.34	\$2,403.00	\$12.00	\$5,400.00	\$17.25	\$7,762.50
7	Select Granular Material	200.00	CY	\$11.29	\$2,258.00	\$15.00	\$3,000.00	\$1.00	\$200.00
8	Geotextile for Soil Stabilization	600.00	SY	\$2.77	\$1,662.00	\$1.00	\$600.00	\$3.75	\$2,250.00
9	Rock Plating	50.00	SY	\$67.93	\$3,396.50	\$70.00	\$3,500.00	\$80.00	\$4,000.00
10	Foundation Cond.Mat, Minor Strs	20.00	Tons	\$42.62	\$852.40	\$50.00	\$1,000.00	\$32.25	\$645.00
11	Foundation Conditioning Geotextile	25.00	SY	\$2.90	\$72.50	\$1.00	\$25.00	\$6.65	\$166.25
12	15" Drainage Pipe	28.00	LF	\$63.66	\$1,782.48	\$140.00	\$3,920.00	\$82.50	\$2,310.00
13	15" Drainage Pipe Elbows	2.00	EA	\$94.67	\$189.34	\$420.00	\$840.00	\$15.00	\$30.00
14	Pipe Removal	49.00	LF	\$28.80	\$1,411.20	\$10.00	\$490.00	\$30.00	\$1,470.00
15	Shallow Undercut	100.00	CY	\$4.49	\$449.00	\$5.00	\$500.00	\$26.00	\$2,600.00
16	Class IV Subgrade Stabilization	200.00	Tons	\$12.00	\$2,400.00	\$15.00	\$3,000.00	\$25.50	\$5,100.00
17	Incidental Stone Base	20.00	Tons	\$29.03	\$580.60	\$46.00	\$920.00	\$34.00	\$680.00
18	Incidental Milling	750.00	SY	\$5.00	\$3,750.00	\$8.75	\$6,562.50	\$5.00	\$3,750.00
19	Asphalt Conc Base Course, Type B25.0C	300.00	Tons	\$80.50	\$24,150.00	\$100.00	\$30,000.00	\$80.50	\$24,150.00
20	Asphalt Conc Intermediate Course, Type I19.0C	370.00	Tons	\$80.50	\$29,785.00	\$100.00	\$37,000.00	\$80.50	\$29,785.00
21	Asphalt Conc Surface Course, Type SF9.5B	410.00	Tons	\$80.50	\$33,005.00	\$92.25	\$37,822.50	\$80.50	\$33,005.00
22	Asphalt Binder for Plant Mix	58.00	Tons	\$560.00	\$32,480.00	\$500.00	\$29,000.00	\$560.00	\$32,480.00
23	Concrete Right of Way Markers	13.00	EA	\$160.50	\$2,086.50	\$300.00	\$3,900.00	\$325.00	\$4,225.00
24	Subdrain Excavation	70.00	CY	\$0.01	\$0.70	\$5.00	\$350.00	\$10.00	\$700.00
25	Subdrain Fine Aggregate	35.00	CY	\$0.01	\$0.35	\$15.00	\$525.00	\$20.00	\$700.00
26	6" Perforated Subdrain Pipe	200.00	LF	\$0.01	\$2.00	\$5.00	\$1,000.00	\$3.00	\$600.00
27	Subdrain Pipe Outlet	1.00	EA	\$0.01	\$0.01	\$50.00	\$50.00	\$100.00	\$100.00
28	6" Outlet Pipe	6.00	LF	\$0.01	\$0.06	\$5.00	\$30.00	\$10.00	\$60.00
		<u> </u>		Bid_Tab				Pag	ge 1 of 6

			SANFORD CO	NTRACTORS INC	S T WOOTEN CORPORATION		SMITH-ROWE, LLC		
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
29	Masonry Drainage Structures	1.00	Each	\$2,036.41	\$2,036.41	\$4,000.00	\$4,000.00	\$2,150.00	\$2,150.00
30	Frame with Grate, Std. 840.29	1.00	Each	\$686.76	\$686.76	\$800.00	\$800.00	\$720.00	\$720.00
31	Shoulder Berm Gutter	20.00	LF	\$81.59	\$1,631.80	\$115.00	\$2,300.00	\$115.00	\$2,300.00
32	Steel Beam Guardrail	375.00	LF	\$26.00	\$9,750.00	\$26.00	\$9,750.00	\$26.00	\$9,750.00
33	Additional Guardrail Posts	5.00	Each	\$11.00	\$55.00	\$11.00	\$55.00	\$1.00	\$5.00
34	Guardrail Anchor Units - Type III	4.00	Each	\$2,150.00	\$8,600.00	\$2,150.00	\$8,600.00	\$2,150.00	\$8,600.00
35	Guardrail Anchor Units - Type TL-3	4.00	Each	\$3,450.00	\$13,800.00	\$3,450.00	\$13,800.00	\$3,450.00	\$13,800.00
36	Remove Existing Guardrail	502.00	LF	\$1.00	\$502.00	\$1.00	\$502.00	\$1.00	\$502.00
	Rip Rap, Class II	30.00	Ton	\$43.74	\$1,312.20	\$70.00	\$2,100.00	\$53.00	\$1,590.00
38	Rip Rap, Class B	170.00	Ton	\$41.74	\$7,095.80	\$60.00	\$10,200.00	\$50.00	\$8,500.00
39	Geotextile for Drainage	810.00	SY	\$2.90	\$2,349.00	\$1.00	\$810.00	\$4.00	\$3,240.00
40	Traffic Control	1.00	LS	\$4,800.00	\$4,800.00	\$4,800.00	\$4,800.00	\$6,255.00	\$6,255.00
41	Paint Pavement Marking Lines (4")	3,000.00	LF	\$0.70	\$2,100.00	\$0.50	\$1,500.00	\$1.87	\$5,610.00
42	Permanent Raised Pavement Markers	10.00	Ea	\$12.50	\$125.00	\$10.00	\$100.00	\$12.50	\$125.00
43	6" Water Line	478.00	LF	\$108.00	\$51,624.00	\$108.00	\$51,624.00	\$149.41	\$71,417.98
44	Ductile Iron Water Pipe Fittings	485.00	LB	\$18.00	\$8,730.00	\$18.00	\$8,730.00	\$21.78	\$10,563.30
45	6" Valve	2.00	Ea	\$2,300.00	\$4,600.00	\$2,300.00	\$4,600.00	\$3,327.50	\$6,655.00
46	Abandon 6" Utility Pipe	480.00	LF	\$10.00	\$4,800.00	\$10.00	\$4,800.00	\$12.10	\$5,808.00
47	Directional Drilling of 6" Water Line	435.00	LF	\$69.00	\$30,015.00	\$69.00	\$30,015.00	\$83.49	\$36,318.15
48	Temporary Silt Fence	1,325.00	LF	\$2.75	\$3,643.75	\$2.75	\$3,643.75	\$2.75	\$3,643.75
49	Stone for Erosion Control, Class A	65.00	Ton	\$40.74	\$2,648.10	\$40.00	\$2,600.00	\$1.00	\$65.00
50	Stone for Erosion Control, Class B	185.00	Ton	\$41.74	\$7,721.90	\$60.00	\$11,100.00	\$1.00	\$185.00
51	Sediment Control Stone	130.00	Ton	\$37.74	\$4,906.20	\$50.00	\$6,500.00	\$1.00	\$130.00
52	Temporary Mulching	1.00	Acre	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00	\$900.00
53	Seed for Temporary Seeding	100.00	LB	\$3.00	\$300.00	\$3.00	\$300.00	\$3.00	\$300.00
54	Fertilizer for Temporary Seeding	0.50	Ton	\$1,425.00	\$712.50	\$1,425.00	\$712.50	\$1,425.00	\$712.50
55	Temporary Slope Drains	200.00	LF	\$10.70	\$2,140.00	\$5.00	\$1,000.00	\$15.50	\$3,100.00
56	Safety Fence	920.00	LF	\$2.00	\$1,840.00	\$2.00	\$1,840.00	\$2.00	\$1,840.00
57	Silt Excavation	200.00	CY	\$0.01	\$2.00	\$10.00	\$2,000.00	\$0.01	\$2.00
58	Matting for Erosion Control	6,305.00	SY	\$2.00	\$12,610.00	\$2.00	\$12,610.00	\$2.00	\$12,610.00
59	Coir Fiber Mat	100.00	SY	\$4.75	\$475.00	\$4.75	\$475.00	\$4.75	\$475.00
60	1/4" Hardware Cloth	30.00	LF	\$3.00	\$90.00	\$3.00	\$90.00	\$3.00	\$90.00
61	Special Stilling Basins	4.00	Ea	\$200.00	\$800.00	\$100.00	\$400.00	\$1.00	\$4.00
62	Coir Fiber Wattle	130.00	LF	\$12.00	\$1,560.00	\$12.00	\$1,560.00	\$12.00	\$1,560.00
63	Polyacrylamide (PAM)	30.00	LB	\$20.00	\$600.00	\$20.00	\$600.00	\$1.00	\$30.00
64	Seeding & Mulching	3.00	Acre	\$0.01	\$0.03	\$2,500.00	\$7,500.00	\$1.00	\$3.00
65	Mowing	0.50	Acre	Bid_T\$500.00	\$250.00	\$500.00	\$250.00	\$500.00	ge 2 of 6 \$250.00
		-						L	

					TRACTORS INC	S T WOOTEN O			OWE, LLC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
66	Seed for Repair Seeding	50.00	LB	\$15.00	\$750.00	\$15.00	\$750.00	\$15.00	\$750.00
67	Fertilizer for Repair Seeding	0.25	Ton	\$1,425.00	\$356.25	\$1,425.00	\$356.25	\$1,425.00	\$356.25
68	Seed for Supplemental Seeding	50.00	LB	\$12.00	\$600.00	\$12.00	\$600.00	\$12.00	\$600.00
69	Fertilizer Topdressing	0.50	Ton	\$1,425.00	\$712.50	\$1,425.00	\$712.50	\$1,425.00	\$712.50
70	Impervious Dike	105.00	LF	\$0.01	\$1.05	\$140.00	\$14,700.00	\$1.00	\$105.00
71	Specialized Hand Mowing	10.00	Mhr	\$0.01	\$0.10	\$100.00	\$1,000.00	\$100.00	\$1,000.00
72	Response for Erosion Control	13.00	Ea	\$0.01	\$0.13	\$60.00	\$780.00	\$1.00	\$13.00
73	Concrete Washout Structure	2.00	Ea	\$321.00	\$642.00	\$1,300.00	\$2,600.00	\$475.00	\$950.00
74	Removal of Existing Structure at Station 15+57.00 - L-	1.00	LS	\$32,654.88	\$32,654.88	\$31,000.00	\$31,000.00	\$62,200.00	\$62,200.00
75	Asbestos Assessment	1.00	LS	\$1,500.00	\$1,500.00	\$1,000.00	\$1,000.00	\$1,700.00	\$1,700.00
76	PDA Testing	1.00	Ea	\$1,750.00	\$1,750.00	\$4,000.00	\$4,000.00	\$3,075.00	\$3,075.00
77	Unclassified Structure Excavation at Station 15+57.00 -L-	1.00	LS	\$3,000.00	\$3,000.00	\$15,000.00	\$15,000.00	\$1,840.00	\$1,840.00
78	Class A Concrete (Bridge)	51.20	CY	\$1,338.50	\$68,531.20	\$1,000.00	\$51,200.00	\$1,037.56	\$53,123.07
79	Bridge Approach Slabs, Station 15+57.00 -L-	1.00	LS	\$33,000.00	\$33,000.00	\$28,000.00	\$28,000.00	\$29,250.00	\$29,250.00
80	Reinforcing Steel (Bridge)	7,152.00	LB	\$1.02	\$7,295.04	\$1.70	\$12,158.40	\$1.69	\$12,086.88
81	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$2,800.00	\$39,200.00	\$1,000.00	\$14,000.00	\$563.33	\$7,886.62
82	HP 12 x 53 Steel Piles	480.00	LF	\$42.63	\$20,462.40	\$60.00	\$28,800.00	\$64.00	\$30,720.00
83	Vertical Concrete Barrier	180.00	LF	\$180.00	\$32,400.00	\$180.00	\$32,400.00	\$157.74	\$28,393.20
84	Rip Rap Class II (2'-0" Thick)	300.00	Ton	\$60.55	\$18,165.00	\$70.00	\$21,000.00	\$41.84	\$12,552.00
85	Geotextile for Drainage	335.00	SY	\$3.75	\$1,256.25	\$1.00	\$335.00	\$3.65	\$1,222.75
86	Elastomeric Bearings	1.00	LS	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$2,350.00	\$2,350.00
87	3'-0" x 2'-9" Prestressed Concrete Box Beams	990.00	LF	\$311.89	\$308,771.10	\$390.00	\$386,100.00	\$343.29	\$339,857.10
					\$1,054,800.00		\$1,186,595.40		\$1,193,622.80

Bidder No. 1: SANFORD CONTRACTORS INC

Bidder No. 2: S T WOOTEN CORPORATION

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: DANE CONSTRUCTION INC

COMPANY

Bidder No. 6: DELLINGER INC

Bid_Tab Page 3 of 6

BID TABULATIONS

Contract No:DH00330

WBS No:17BP.8.R.134

County:Lee

Replacement of Bridge No.34 over Upper Little River on SR 1146

(ST. Andrews Church Road)

Bid Opening Date: 1/25/2022 at 2:00 PM

Mobilization							FSC II LLC DBA FRED SMITH			
1 Mobilization	TEM NO	ITEM		LDHTC						
Type II Modified Approach Fill, Sta. 15+57.00 - L 1.00										AMOUNT BID
Number Second Secon	-				ŕ	·	ŕ	·	, ,	\$65,000.00
Grading	2 1y	ype II Modified Approach Fill, Sta. 15+57.00 –L-	1.00	LS	\$13,675.00	\$13,673.00	\$16,000.00	\$16,000.00	\$15,000.00	\$15,000.00
Supplemental Clearing and Grubbing	3 Un	ndercut Excavation	300.00	CY	\$20.00	\$6,000.00	\$20.00	\$6,000.00	\$20.00	\$6,000.00
Columbia	4 G r	rading	1.00	LS	\$95,000.00	\$95,000.00	\$75,000.00	\$75,000.00	\$160,000.00	\$160,000.00
Select Granular Material 200.00 CY \$40.00 \$8,000.00 \$40.00 \$8,000.00 \$20.00 \$48	5 Su	upplemental Clearing and Grubbing	1.00	Acre	\$500.00	\$500.00	\$1.00	\$1.00	\$100.00	\$100.00
8 Geotextile for Soil Stabilization 600.00 SY \$4.00 \$2,400.00 \$4.00 \$2,400.00 \$4.00 \$2 9 Rock Plating 50.00 SY \$32.00 \$1,600.00 \$32.00 \$1,600.00 \$65.00 \$3 10 Foundation Cond.Mat, Minor Strs 20.00 Tons \$35.00 \$700.00 \$10.00 \$200.00 \$30.00	6 D r	rainage Ditch Excavation	450.00	CY	\$15.00	\$6,750.00	\$15.00	\$6,750.00	\$8.00	\$3,600.00
9 Rock Plating 50.00 SY \$32.00 \$1,600.00 \$32.00 \$1,600.00 \$65.00 \$33.00 \$10.00 \$200.00 \$30.00	7 Sel	elect Granular Material	200.00	CY	\$40.00	\$8,000.00	\$40.00	\$8,000.00	\$20.00	\$4,000.00
10 Foundation Cond.Mat, Minor Strs 20.00 Tons \$35.00 \$700.00 \$10.00 \$200.00 \$30.00 \$30.00 \$11	8 Ge	eotextile for Soil Stabilization	600.00	SY	\$4.00	\$2,400.00	\$4.00	\$2,400.00	\$4.00	\$2,400.00
11 Foundation Conditioning Geotextile 25.00 SY \$3.50 \$87.50 \$3.50 \$87.50 \$4.00 \$3.50 \$1.5" Drainage Pipe 28.00 LF \$55.00 \$1.540.00 \$55.00 \$1.540.00 \$40.00 \$1.5" Drainage Pipe Elbows 2.00 EA \$950.00 \$1.900.00 \$500.00 \$1.000.00 \$500.00 \$1.000	9 Ro	ock Plating	50.00	SY	\$32.00	\$1,600.00	\$32.00	\$1,600.00	\$65.00	\$3,250.00
12 15" Drainage Pipe 28.00 LF \$55.00 \$1,540.00 \$40.00 \$1 \$15" Drainage Pipe Elbows 2.00 EA \$950.00 \$1,900.00 \$500.00 \$1,000.00 \$500.00 \$1 \$14 Pipe Removal 49.00 LF \$20.00 \$980.00 \$20.00 \$980.00 \$20.00 \$980.00 \$1 \$15 \$15 \$15 \$15 \$15 \$16 \$10 \$10 \$10 \$15 \$15 \$15 \$15 \$15 \$16	10 Fo	oundation Cond.Mat, Minor Strs	20.00	Tons	\$35.00	\$700.00	\$10.00	\$200.00	\$30.00	\$600.00
13 15" Drainage Pipe Elbows 2.00 EA \$950.00 \$1,900.00 \$500.00 \$1,000.00 \$500.00 \$1	11 Fo	oundation Conditioning Geotextile	25.00	SY	\$3.50	\$87.50	\$3.50	\$87.50	\$4.00	\$100.00
14 Pipe Removal 49.00 LF \$20.00 \$980.00 \$20.00 \$980.00 \$40.00 \$1 15 Shallow Undercut 100.00 CY \$25.00 \$2,500.00 \$2,500.00 \$21.00 \$2 16 Class IV Subgrade Stabilization 200.00 Tons \$40.00 \$8,000.00 \$40.00 \$8,000.00 \$50.00 \$10 17 Incidental Stone Base 20.00 Tons \$40.00 \$800.00 \$40.00 \$800.00 \$35.00 \$37.00 \$35.00 \$37.00 \$35.00 \$37.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00	12 15'	5" Drainage Pipe	28.00	LF	\$55.00	\$1,540.00	\$55.00	\$1,540.00	\$40.00	\$1,120.00
15 Shallow Undercut 100.00 CY \$25.00 \$2,500.00 \$25.00 \$2,500.00 \$21.00 \$2	13 15'	5" Drainage Pipe Elbows	2.00	EA	\$950.00	\$1,900.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00
16 Class IV Subgrade Stabilization 200.00 Tons \$40.00 \$8,000.00 \$8,000.00 \$50.00 \$10 17 Incidental Stone Base 20.00 Tons \$40.00 \$800.00 \$800.00 \$800.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$35.00 \$36	14 Pi p	pe Removal	49.00	LF	\$20.00	\$980.00	\$20.00	\$980.00	\$40.00	\$1,960.00
17 Incidental Stone Base 20.00 Tons \$40.00 \$800.00 \$40.00 \$800.00 \$35.00 \$35.00 \$18 Incidental Milling 750.00 SY \$5.00 \$3,750.00 \$15.00 \$11,250.00 \$8.00 \$6 \$6 \$19 Asphalt Conc Base Course, Type B25.0C 300.00 Tons \$80.50 \$24,150.00 \$91.00 \$27,300.00 \$100.00 \$30 \$20 Asphalt Conc Intermediate Course, Type I19.0C 370.00 Tons \$80.50 \$29,785.00 \$83.00 \$30,710.00 \$100.00 \$37 \$21 Asphalt Conc Surface Course, Type SF9.5B 410.00 Tons \$80.50 \$33,005.00 \$90.75 \$37,207.50 \$92.25 \$37 \$22 Asphalt Binder for Plant Mix 58.00 Tons \$560.00 \$32,480.00 \$575.00 \$33,350.00 \$500.00 \$29 \$23 Concrete Right of Way Markers 13.00 EA \$215.00 \$2,795.00 \$450.00 \$5,850.00 \$420.00 \$5 \$24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1.00 \$25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$45.00 \$1,575.00 \$1.00 \$27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$200.00 \$200.00 \$1.00	15 Sh a	nallow Undercut	100.00	CY	\$25.00	\$2,500.00	\$25.00	\$2,500.00	\$21.00	\$2,100.00
18 Incidental Milling 750.00 SY \$5.00 \$3,750.00 \$15.00 \$11,250.00 \$8.00 \$6 19 Asphalt Conc Base Course, Type B25.0C 300.00 Tons \$80.50 \$24,150.00 \$91.00 \$27,300.00 \$100.00 \$30 20 Asphalt Conc Intermediate Course, Type II9.0C 370.00 Tons \$80.50 \$29,785.00 \$83.00 \$30,710.00 \$100.00 \$37 21 Asphalt Conc Surface Course, Type SF9.5B 410.00 Tons \$80.50 \$33,005.00 \$90.75 \$37,207.50 \$92.25 \$37 22 Asphalt Binder for Plant Mix 58.00 Tons \$560.00 \$32,480.00 \$575.00 \$33,350.00 \$500.00 \$29 23 Concrete Right of Way Markers 13.00 EA \$215.00 \$2,795.00 \$450.00 \$5,850.00 \$5 24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1,000 25 Subdrain Fine Aggregate 35.00 CY	16 Cla	lass IV Subgrade Stabilization	200.00	Tons	\$40.00	\$8,000.00	\$40.00	\$8,000.00	\$50.00	\$10,000.00
19 Asphalt Conc Base Course, Type B25.0C 300.00 Tons \$80.50 \$24,150.00 \$91.00 \$27,300.00 \$100.00 \$30 20 Asphalt Conc Intermediate Course, Type I19.0C 370.00 Tons \$80.50 \$29,785.00 \$83.00 \$30,710.00 \$100.00 \$37 21 Asphalt Conc Surface Course, Type SF9.5B 410.00 Tons \$80.50 \$33,005.00 \$90.75 \$37,207.50 \$92.25 \$37 22 Asphalt Binder for Plant Mix 58.00 Tons \$560.00 \$32,480.00 \$575.00 \$33,350.00 \$500.00 \$29 23 Concrete Right of Way Markers 13.00 EA \$215.00 \$2,795.00 \$450.00 \$5,850.00 \$420.00 \$5 24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1.00 25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$1.00 \$1.00 26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$200.00 <td>17 Inc</td> <th>cidental Stone Base</th> <td>20.00</td> <td>Tons</td> <td>\$40.00</td> <td>\$800.00</td> <td>\$40.00</td> <td>\$800.00</td> <td>\$35.00</td> <td>\$700.00</td>	17 Inc	cidental Stone Base	20.00	Tons	\$40.00	\$800.00	\$40.00	\$800.00	\$35.00	\$700.00
20 Asphalt Conc Intermediate Course, Type I19.0C 370.00 Tons \$80.50 \$29,785.00 \$83.00 \$30,710.00 \$100.00 \$37 21 Asphalt Conc Surface Course, Type SF9.5B 410.00 Tons \$80.50 \$33,005.00 \$90.75 \$37,207.50 \$92.25 \$37 22 Asphalt Binder for Plant Mix 58.00 Tons \$560.00 \$32,480.00 \$575.00 \$33,350.00 \$500.00 \$29 23 Concrete Right of Way Markers 13.00 EA \$215.00 \$2,795.00 \$450.00 \$5,850.00 \$420.00 \$5 24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1.00 25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$45.00 \$1,575.00 \$1.00 26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$5,000.00 \$200.00 \$200.00 \$1.00 27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$20	18 Inc	cidental Milling	750.00	SY	\$5.00	\$3,750.00	\$15.00	\$11,250.00	\$8.00	\$6,000.00
21 Asphalt Conc Surface Course, Type SF9.5B 410.00 Tons \$80.50 \$33,005.00 \$90.75 \$37,207.50 \$92.25 \$37 22 Asphalt Binder for Plant Mix 58.00 Tons \$560.00 \$32,480.00 \$575.00 \$33,350.00 \$500.00 \$29 23 Concrete Right of Way Markers 13.00 EA \$215.00 \$2,795.00 \$450.00 \$5,850.00 \$420.00 \$5 24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1.00 25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$1.00 26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$5,000.00 \$15.00 \$3,000.00 \$1.00 27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$200.00 \$200.00 \$200.00 \$10.00	19 As	sphalt Conc Base Course, Type B25.0C	300.00	Tons	\$80.50	\$24,150.00	\$91.00	\$27,300.00	\$100.00	\$30,000.00
22 Asphalt Binder for Plant Mix 58.00 Tons \$560.00 \$32,480.00 \$575.00 \$33,350.00 \$500.00 \$29 23 Concrete Right of Way Markers 13.00 EA \$215.00 \$2,795.00 \$450.00 \$5,850.00 \$420.00 \$5 24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1.00 25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$1,575.00 \$1.00 26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$5,000.00 \$15.00 \$3,000.00 \$1.00 27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$200.00 \$200.00 \$1.00	20 As	sphalt Conc Intermediate Course, Type I19.0C	370.00	Tons	\$80.50	\$29,785.00	\$83.00	\$30,710.00	\$100.00	\$37,000.00
23 Concrete Right of Way Markers 13.00 EA \$215.00 \$2,795.00 \$450.00 \$5,850.00 \$420.00 \$5 24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1.00 25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$1,575.00 \$1.00 26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$5,000.00 \$15.00 \$3,000.00 \$1.00 27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$200.00 \$1.00	21 As	sphalt Conc Surface Course, Type SF9.5B	410.00	Tons	\$80.50	\$33,005.00	\$90.75	\$37,207.50	\$92.25	\$37,822.50
24 Subdrain Excavation 70.00 CY \$15.00 \$1,050.00 \$1,050.00 \$1,050.00 \$1.00 25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$45.00 \$1,575.00 \$1.00 26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$5,000.00 \$15.00 \$3,000.00 \$1.00 27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$200.00 \$1.00	22 As	sphalt Binder for Plant Mix	58.00	Tons	\$560.00	\$32,480.00	\$575.00	\$33,350.00	\$500.00	\$29,000.00
25 Subdrain Fine Aggregate 35.00 CY \$45.00 \$1,575.00 \$1,575.00 \$1.00 26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$5,000.00 \$15.00 \$3,000.00 \$1.00 \$200.00 \$1.00 \$1.00 \$200.00 \$200.00 \$200.00 \$1.00	23 Co	oncrete Right of Way Markers	13.00	EA	\$215.00	\$2,795.00	\$450.00	\$5,850.00	\$420.00	\$5,460.00
26 6" Perforated Subdrain Pipe 200.00 LF \$25.00 \$5,000.00 \$15.00 \$3,000.00 \$1.00 \$200.00 27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$200.00 \$1.00	24 Su l	ıbdrain Excavation	70.00	CY	\$15.00	\$1,050.00	\$15.00	\$1,050.00	\$1.00	\$70.00
27 Subdrain Pipe Outlet 1.00 EA \$200.00 \$200.00 \$200.00 \$1.00	25 Su l	ıbdrain Fine Aggregate	35.00	CY	\$45.00	\$1,575.00	\$45.00	\$1,575.00	\$1.00	\$35.00
	26 6 "	' Perforated Subdrain Pipe	200.00	LF	\$25.00	\$5,000.00	\$15.00	\$3,000.00	\$1.00	\$200.00
20 (10 11 P)	27 Su l	ıbdrain Pipe Outlet	1.00	EA	\$200.00	\$200.00	\$200.00	\$200.00	\$1.00	\$1.00
28 6" Outlet Pipe 6.00 LF \$25.00 \$150.00 \$150.00 \$1.00 \$1.00 Page 4 of 6	28 6"	' Outlet Pipe	6.00	LF	\$25.00	\$150.00	\$25.00	\$150.00	\$1.00	\$6.00

			DANE CONSTRUCTION INC		FSC II LLC DBA FRED SMITH COMPANY		DELLINGER INC		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
29	Masonry Drainage Structures	1.00	Each	\$1,900.00	\$1,900.00	\$1,900.00	\$1,900.00	\$2,000.00	\$2,000.00
	Frame with Grate, Std. 840.29	1.00	Each	\$1,050.00	\$1,050.00	\$1,050.00	\$1,050.00	\$750.00	\$750.00
	Shoulder Berm Gutter	20.00	LF	\$50.00	\$1,000.00	\$60.00	\$1,200.00	\$50.00	\$1,000.00
	Steel Beam Guardrail	375.00	LF	\$26.00	\$9,750.00	\$26.00	\$9,750.00	\$28.00	\$10,500.00
33	Additional Guardrail Posts	5.00	Each	\$11.00	\$55.00	\$11.00	\$55.00	\$60.00	\$300.00
34	Guardrail Anchor Units - Type III	4.00	Each	\$2,150.00	\$8,600.00	\$2,150.00	\$8,600.00	\$2,300.00	\$9,200.00
	Guardrail Anchor Units - Type TL-3	4.00	Each	\$3,450.00	\$13,800.00	\$3,450.00	\$13,800.00	\$3,400.00	\$13,600.00
36	Remove Existing Guardrail	502.00	LF	\$1.00	\$502.00	\$1.00	\$502.00	\$1.00	\$502.00
	Rip Rap, Class II	30.00	Ton	\$60.00	\$1,800.00	\$70.00	\$2,100.00	\$65.00	\$1,950.00
	Rip Rap, Class B	170.00	Ton	\$50.00	\$8,500.00	\$50.00	\$8,500.00	\$50.00	\$8,500.00
	Geotextile for Drainage	810.00	SY	\$3.50	\$2,835.00	\$1.00	\$810.00	\$4.00	\$3,240.00
	Traffic Control	1.00	LS	\$6,500.00	\$6,500.00	\$6,255.00	\$6,255.00	\$15,000.00	\$15,000.00
41	Paint Pavement Marking Lines (4")	3,000.00	LF	\$1.10	\$3,300.00	\$2.00	\$6,000.00	\$1.10	\$3,300.00
42	Permanent Raised Pavement Markers	10.00	Ea	\$15.00	\$150.00	\$10.00	\$100.00	\$15.00	\$150.00
43	6" Water Line	478.00	LF	\$108.00	\$51,624.00	\$73.00	\$34,894.00	\$108.00	\$51,624.00
44	Ductile Iron Water Pipe Fittings	485.00	LB	\$18.00	\$8,730.00	\$14.25	\$6,911.25	\$18.00	\$8,730.00
45	6" Valve	2.00	Ea	\$2,300.00	\$4,600.00	\$4,267.00	\$8,534.00	\$2,300.00	\$4,600.00
46	Abandon 6" Utility Pipe	480.00	LF	\$10.00	\$4,800.00	\$22.25	\$10,680.00	\$10.00	\$4,800.00
47	Directional Drilling of 6" Water Line	435.00	LF	\$69.00	\$30,015.00	\$357.00	\$155,295.00	\$69.00	\$30,015.00
48	Temporary Silt Fence	1,325.00	LF	\$2.75	\$3,643.75	\$2.50	\$3,312.50	\$3.00	\$3,975.00
49	Stone for Erosion Control, Class A	65.00	Ton	\$40.00	\$2,600.00	\$1.00	\$65.00	\$47.20	\$3,068.00
50	Stone for Erosion Control, Class B	185.00	Ton	\$40.00	\$7,400.00	\$25.00	\$4,625.00	\$47.20	\$8,732.00
51	Sediment Control Stone	130.00	Ton	\$35.00	\$4,550.00	\$25.00	\$3,250.00	\$38.31	\$4,980.30
52	Temporary Mulching	1.00	Acre	\$900.00	\$900.00	\$750.00	\$750.00	\$1,700.00	\$1,700.00
53	Seed for Temporary Seeding	100.00	LB	\$3.00	\$300.00	\$2.00	\$200.00	\$4.50	\$450.00
54	Fertilizer for Temporary Seeding	0.50	Ton	\$1,425.00	\$712.50	\$500.00	\$250.00	\$1,500.00	\$750.00
55	Temporary Slope Drains	200.00	LF	\$16.00	\$3,200.00	\$1.00	\$200.00	\$12.00	\$2,400.00
56	Safety Fence	920.00	LF	\$2.00	\$1,840.00	\$3.00	\$2,760.00	\$3.00	\$2,760.00
57	Silt Excavation	200.00	CY	\$15.00	\$3,000.00	\$10.00	\$2,000.00	\$31.00	\$6,200.00
58	Matting for Erosion Control	6,305.00	SY	\$2.00	\$12,610.00	\$0.10	\$630.50	\$3.00	\$18,915.00
59	Coir Fiber Mat	100.00	SY	\$4.75	\$475.00	\$15.00	\$1,500.00	\$8.00	\$800.00
60	1/4" Hardware Cloth	30.00	LF	\$3.00	\$90.00	\$14.00	\$420.00	\$9.00	\$270.00
61	Special Stilling Basins	4.00	Ea	\$525.00	\$2,100.00	\$250.00	\$1,000.00	\$450.00	\$1,800.00
	Coir Fiber Wattle	130.00	LF	\$30.00	\$3,900.00	\$30.00	\$3,900.00	\$10.00	\$1,300.00
63	Polyacrylamide (PAM)	30.00	LB	\$30.00	\$900.00	\$30.00	\$900.00	\$35.00	\$1,050.00
64	Seeding & Mulching	3.00	Acre	\$2,500.00	\$7,500.00	\$1,000.00	\$3,000.00	\$3,800.00	\$11,400.00
	Mowing	0.50	Acre	Bid_Ta\\$500.00	\$250.00	\$200.00	\$100.00	\$500.00Pa	age 5 of 6 \$250.00

				DANE GONGERMANDIA		FSC II LLC DBA FRED SMITH			
TEM NO	ITEM	OUANTITY	LIMITO		TRUCTION INC		IPANY		GER INC
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID		AMOUNT BID
66	Seed for Repair Seeding	50.00	LB	\$15.00	\$750.00	\$6.90	\$345.00	·	\$350.00
67	Fertilizer for Repair Seeding	0.25	Ton	\$1,425.00	\$356.25	\$1,200.00	\$300.00		\$375.00
68	Seed for Supplemental Seeding	50.00	LB	\$12.00	\$600.00		\$345.00	· · · · · · · · · · · · · · · · · · ·	\$350.00
69	Fertilizer Topdressing	0.50	Ton	\$1,425.00	\$712.50		\$600.00	. ,	\$1,000.00
70	Impervious Dike	105.00	LF	\$30.00	\$3,150.00	\$100.00	\$10,500.00	\$55.00	\$5,775.00
71	Specialized Hand Mowing	10.00	Mhr	\$100.00	\$1,000.00	\$85.00	\$850.00	\$50.00	\$500.00
72	Response for Erosion Control	13.00	Ea	\$50.00	\$650.00	\$50.00	\$650.00	\$500.00	\$6,500.00
73	Concrete Washout Structure	2.00	Ea	\$2,750.00	\$5,500.00	\$642.00	\$1,284.00	\$500.00	\$1,000.00
74	Removal of Existing Structure at Station 15+57.00 - L-	1.00	LS	\$45,045.00	\$45,045.00	\$55,000.00	\$55,000.00	\$35,000.00	\$35,000.00
75	Asbestos Assessment	1.00	LS	\$1,050.00	\$1,050.00	\$1,200.00	\$1,200.00	\$5,000.00	\$5,000.00
76	PDA Testing	1.00	Ea	\$1,800.00	\$1,800.00	\$1,750.00	\$1,750.00	\$2,500.00	\$2,500.00
77	Unclassified Structure Excavation at Station 15+57.00 -L-	1.00	LS	\$9,500.00	\$9,500.00	\$4,500.00	\$4,500.00	\$15,000.00	\$15,000.00
78	Class A Concrete (Bridge)	51.20	CY	\$1,575.00	\$80,640.00	\$1,300.00	\$66,560.00	\$1,500.00	\$76,800.00
79	Bridge Approach Slabs, Station 15+57.00 -L-	1.00	LS	\$19,275.00	\$19,275.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00
80	Reinforcing Steel (Bridge)	7,152.00	LB	\$1.80	\$12,873.60	\$2.30	\$16,449.60	\$2.00	\$14,304.00
81	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$1,350.00	\$18,900.00	\$629.00	\$8,806.00	\$3,500.00	\$49,000.00
82	HP 12 x 53 Steel Piles	480.00	LF	\$48.00	\$23,040.00	\$62.00	\$29,760.00	\$47.00	\$22,560.00
83	Vertical Concrete Barrier	180.00	LF	\$125.00	\$22,500.00	\$173.50	\$31,230.00	\$195.00	\$35,100.00
84	Rip Rap Class II (2'-0" Thick)	300.00	Ton	\$63.50	\$19,050.00	\$70.00	\$21,000.00	\$65.00	\$19,500.00
85	Geotextile for Drainage	335.00	SY	\$2.50	\$837.50	\$2.30	\$770.50	\$4.00	\$1,340.00
86	Elastomeric Bearings	1.00	LS	\$5,500.00	\$5,500.00	\$3,366.00	\$3,366.00	\$4,000.00	\$4,000.00
87	3'-0" x 2'-9" Prestressed Concrete Box Beams	990.00	LF	\$405.00	\$400,950.00	\$389.00	\$385,110.00	\$375.00	\$371,250.00

Bidder No. 1: SANFORD CONTRACTORS INC

Bidder No. 2: S T WOOTEN CORPORATION

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: DANE CONSTRUCTION INC

COMPANY

Bidder No. 6: DELLINGER INC

Bid_Tab Page 6 of 6

\$1,321,176.35

\$1,355,289.80

\$1,235,299.60